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Full Marks : 65

Candidates are required to give their answers in their own words

as far as practicable.
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The figures in the margin indicate full marks.

. Choose the correct option (any ten) : 1x10

(a) Primary quality according to Locke is
(i) fragrance of a red rose (i) brown colour of a table
(iii) round shape of a ball (iv) sweet taste of an apple.
(b) According to Locke, mode is not found in
(1) colour (i) table (i) gratitude (iv) beauty.
(¢c) According to Locke, ‘Three angles of a triangle is equal to two right angles’— is
(i) sensitive knowledge (i) demonstrative knowledge
(i) 1intuitive knowledge (iv) none of these.
(d) According to Berkeley, the object of our perception is
(1) matter (i) idea (i) mind (iv) God.
(¢) The meaning of the dictum “Esse est percipii” is
(i) perception depends on existence (i) existence depends on perception
(i) existence precedes essence (iv) essence precedes existence.
(f) ‘I (self) and my ideas alone exist'— This doctrine is called
(i) dualism (i) solipcism (ii)) critical theory (iv) pluralism.
(g) Proposition concerning relation of ideas is expressed in
(1) 1 love my pet cat. (ii) The sun will rise tomorrow.

(i) Grass is green. (v) 4+5=9.
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(h) The true proposition concerning matter of fact is
() Denial of proposition concerning matter of factis a self-contradictory proposition
(i) The proposition concerning matter of fact can be known through experience
(i) The proposition concerning matter of fact is an a priori proposition
(iv) The proposition concerning matter of fact is necessarily true.
(i) Hume’s scepticism 18
(i) extreme antecedent scepticism (i) extreme consequent scepticism
(iif) mitigated antecedent scepticism @iv) mitigated consequent scepticism.

@ Philosopher who was deeply influenced by Hume was

() Leibnitz G mill (i) Ayer (iv) Kant.
&) Synthetic a priori proposition is

(i) Every event has a cause (iiy The sky is blue

Gi) Al mothers are females (iv) No triangle is circle.

(1) ‘Space and time are d priori intuitions’— This Kantian notion is expressed in
@A) Transcendental Analytic (1) Transcendental Dialectic

(i) Transcendental Aesthetic (iv) None of the above.

. Answer in brief (any five) 5x%5

(a) State Locke’s view on innate ideas.

(b) Explain with examples Locke’s theory of complex ideas.

(c) How does Berkeley refute the existence of abstract general ideas?

(d) Discuss, in brief, the role of God in Berkeley’s philosophy-

(¢) Explain the principles of association as recognized by Hume.

(f) Explain, in brief, Hume’s theory of causal relation.

(2) Distinguish, following Kant, the distinction between analytic and synthetic judgement.

(h) Discuss briefly Copernican Revolution in epistemology-

. Answer any two questions :

(a) How does Locke distinguish between primary and secondary qualities? How does Berkeley refute

this distinction? 10+5
(b) Discuss critically Subjective Idealism of Berkeley. 15
(©) Distinguish, after Hume, between impression and idea. ‘All ideas are derived from impressions." Is

this view acceptable? Discuss. 5+5+5

(d) What is the special problem in Kant’s philosophy‘? How does Kant solve this probiern‘? 5+10
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